Level 5

Exemplar 1 Paper 1B
Exemplar 1 Paper 2
Exemplar 2 Paper 1B

Exemplar 2 Paper 2

TABLE OF CONTENTS



Level 5 Exemplar 1

2023-DSE
BIO

PAPER 1B

HONG KONG EXAMINATIONS AND ASSESSMENT AUTHORITY

HONG KONG DIPLOMA OF SECONDARY EDUCATION EXAMINATION 2023

BIOLOGY PAPER 1

SECTION B: Question-Answer Book B

This paper must be answered in English

INSTRUCTIONS FOR SECTION B

(1)  After the announcement of the start of the examination,
you should first write your Candidate Number in the
space provided on Page 1 and stick barcode labels in
the spaces provided on Pages 1, 3, 5, 7 and 9.

(2) Refer to the general instructions on the cover of the
Question Paper for Section A.

(3) Answer ALL questions.

(4) Write your answers in the spaces provided in this
Question-Answer Book. Do not write in the margins.
Answers written in the margins will not be marked.

(5) Supplementary answer sheets will be supplied on
request. Write your candidate number, mark the
question number box and stick a barcode label on each
sheet, and fasten them with string INSIDE this Question-
Answer Book.

(6) Present your answers in paragraphs wherever
appropriate.

| ] (7)  The diagrams in this section are NOT necessarily drawn
to scale.

(8) No extra time will be given to candidates for sticking on
the barcode labels or filling in the question number boxes
after the ‘Time is up’ announcement.

OFEEFHNTIZE % R 1
Hong Kong Examinations and Assessment Authority
All Rights Reserved 2023

2023-DSE-BIO 1B-1 1

ORI
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SECTION B
Answer ALL questions. Write your answers in the spaces provided.

1. The spheres shown in the diagram below represent the air sacs of different sizes in the lung. The total volume
of the eight small spheres with a radius of 1 mm each is equal to the volume of one large sphere with a radius

of 2 mm.
surface area of one sphere (mm?) 12.6 50.3
(a) Calculate the total surface area of eight small spheres. (1 mark)

o) QN0 sNin = \‘Lﬂ“‘ﬁq@ ~ D % \/V\\N\L

(b) With reference to the answer in (a), explain why having smaller air sacs in the lungs is more efficient
than bigger air sacs for gas exchange. (2 marks)
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(c) Apart fromQ(b) explain how air sacs are specialised at tissue level for gas exchange. (1 mark)
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2.

All cells are derived from stem cells. They undergo differentiation in which the cells change in form and
shape which enable them to perform specialised functions.

(a) It is found that the lens of the eye is composed of cells without organelles. If the organelles of these
cells had not been degraded during differentiation, describe how the functioning of the lens would have
been affected. (2 marks)

Ao oveouelles ave ust Avauspaveut b £ , = (ells forwig
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(b) Suggest a type of plant cell which also experiences degradation of cellular components during

differentiation. Explain the significance of the degradation to the function of the cell type. (2 marks)
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2023-DSE-BIO 1B-3 3 [ Goontothe next pagé>

Answers written in the margins will not be marked.



Answers written in the margins will not be marked.

3.

Diagram I below shows the right leg with the associated joints and muscles. Diagram II shows a series of
motions during running with the right leg highlighted in grey.

Diagram 1 Diagram I

(@) In order to bring about the changes in motion from (3) to (5), what is the change of state of muscie P?

(1 mark)
Musde § % witvacting

(b) With respect to the answer in (a), state the role of muscle P by circling the foilowing choices in (i) and

complete the sentence in space (ii).
v (1 mark)

MusclePisa (i) éx0r)/ extensor " because (ii) \'\, \,Q\/\Tv &Ck/ “k %Q),\A

fo \ey

. () A person injured his knee while running. Diagram III shows the condition of joint Y after the injury:

Diagram IIT

Q
L7y
Structure Q was torn. How would this affect joint Y and its functioning? (2 marks)
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4.  Dengue fever is an infection caused by the dengue viruses (DENV). It is an endemic illness in many countries
in tropical-and sub-tropical regions. DENV encompasses four different subtypes. Each subtype can lead to
dengue fever.

(a) What is the way of transmission for dengue fever? (1 mark)

\avo \A%\/\ VA0 So\v\/&-\*°

(b) Suggest two environmental factors in tropical and subtropical regions which lead to a higher risk of
contracting dengue fever for people living in these regions. Explain your answer. (3 marks)

Tw ‘Yw(ﬁce\\ sl cublve rTux\ W«ﬁm e, e ave \ste of wioist

eivo et . Wa allow \lawae to grow ool s R A
tovide o'g bredtvw e tov moeqifo, Tie e piamber of
wosauifo Trwreoe | e Jidh e ymore vedtor to Tranguit
ZF dengue fevon \QAM\»E ® lgluy vivle o wutcting demngue fovey.

(c) Patients infected with a particular subtype of DENV for the first time can recover on their own after
about a week without any treatment.

(i) Give three types of white blood cells that aid the recovery and describe each of their actions.

(3 marks)
Y\r\qo\ow"‘& wﬁ,\/\\'(l the DENV aud O{TQQL‘t DENV.
lagwa w\\ \pvoekmm s\)eu‘fw eiltbooly Yo DENY  ylerols
gz Kovim o\uw?& with DENV < 2asy wq\,\\% oF phegoorte.
v Vel divectly (ol DENY

(i) Explain why people who have recovered from infection with a particular subtype of DENV can
DRQN ORK still be infected with other subtypes of DENV in the future. (2 marks)

gmm pes b DENV Wave oitterest \(\AC‘PQ & ovitinen | wlile

Waamovy I End ot
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(d) Suggest one preventive measure agamst he spreading of dengue fever. (1 mark)
Vo atinn

Answers written in the margins will not be marked.
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5.

An electron micrograph of a chloroplast is shown below:

(a) Label structure Y. (1 mark)

(b) State the energy conversion which takes place at X and its importance in photosynthesis. (2 marks)

Vil emervey T ase (ouveitecdd Tute (hewiial eutigy.
gt emengy T coptuved Gy chlovophyll o o¢
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(c) To which type of metabolism does the overall reaction at Z belong? Explain your answer. (2 marks)
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2023-DSE-BIO 1B-6 6

Answers written in the margins will not be marked.



Answers written in the margins will not be marked.

(d) Describe how the photosynthetic products of the leaves are stored in the underground tubers of a potato
plant. (3 marks)

G (luwe oYoduuw\ v D\/\SYoSWT STk o8 T (oguved
&OV\\)MJ{ W0 Guete | wlATin wvonglousied o
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6. Colour blindness is an inherited disorder due to defective functioning of the cone cells in the retina. There
are many types of colour blindness. For example, people with red-green colour blindness fail to distinguish
between red and green colours while those with total colour blindness experience total loss of colour vision.

(a) Based on the functioning of cone cells, suggest why the condition of red-green colour blindness is
different from that of total colour blindness. (1 mark)

Reck-aveem wlewv Wmduass & (aunsed Gy wapropes Fundivwig

(bk)uug%d\ Gy \{\w\—ﬁ)\v\ CRTOWT ; Veol qreem 1 “‘“ﬁ{ L,\uhe ong, u/Ll . sl solour
Re -deess is caused by a recessive e on the X-chromosome while tota
blindnessis caused by a recessive allele whicﬁ_lmz:f on an autosome. The table below shows the

percentage occurrence of r'Ea:gr_e—emlour blindness and total colour blindness in men and women:

Men Women
Red-green colour blindness 8% 0.5%
Total colour blindness 0.00001% 0.00001%

With reference to the inheritance of the two types of colour blindness, suggest why the occurrence of
red-green colour blindness in men as compared to women differs from that of total colour blindness.
(4 marks)
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(c¢) The pedigree below shows the inheritance of red-green colour blindness in a family:

1 2 Key:

O normal male
O normal female
é) . i . colour blind male

3 4 5

(i) The couple is expecting another child. Using ‘B’ to represent the allele for normal vision and ‘b’
to represent the allele for red-green colour blindness, construct a genetic diagfam to find out the

probability of this newborn being a girl with red-green colour blindness. (4 marks)
(Note: Punnett square is not accepted.)
hY - s
Tndiviotwal | Twoltvidlu e 2

P X\ X X B X
VAN v N\

XEE X L XY
Vs et fmalewTth Fomale Wit wh Tt Male with
prame i vl Vi Wovimal URTWA g gt vw('co\’ﬁw

tolowy lth\O( hey(

3 pobalality ot wambor being o vl Lt vedl-
Weem (lowy Limalwely = 0.

(i) Individuals 4 and 5 are twins. Can you determine whether they are identical twins or fraternal
twins? Explain your answer. (2 marks)

“uwo mdivrdual( with veol —green wlowy  Bmdig(( of,

e G fiwe | o

Answers written in the margins will not be marked.
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7.  Greenhouse frog is a foreign species which is now found in many local areas according to a recent survey.
There is a concern that these greenhouse frogs might threaten a local endangered species, Romer’s Tree Frog.
: - Jomn g e v et 2

' (a) The table below provides some information about the two frog species:

Name Romer’s Tree Frog Greenhouse Frog

Size 1.5-2.5 cm 1.2-3.0 cm

Breeding site and | Wetland, small and temporary water | Woodland; shrubland; agricultural field;
habitat bodies; woodland; shrubland; plantations | urban park

Food Small insects Small insects and snails

By comparing the ecological niche of the two frog species, give two pieces of evidence that support the
possibility of the greenhouse frog posing a threat to the Romer’s Tree Frog. Explain your answer.
(3 marks)

Romen's Tiee Fvoq tom oaly Wnbtavae. Small USeds al foudl
wWhatleGueenhowee T, onsuwe Swoll masects anol Suarls
Ay ook, Thare wil Le wwove -foo(’/{ gu)a{)(\,{ +ov Gveeuliouge
FVOQJ\ thaw 4het ot Rowmerls Tree Fmg. ._bveenouce Freq
have wave ool Sv\\‘)P\\'/ ) '“AC&J(V "(‘l/\fb‘l (au @Vow LQTTUV C\V‘O{ '
vypro due fogfor taoprot—t- | Tuweasig popul ativn
ot Wveenboute Trog & Wlavk Low\'w“(e Wrth Rowmer s
TV& \;\foa3 l ?"S’\”\g o thvest o Romen (s Tree Tvoq.
Both Rowmer ' Tvee _\:\ro% ool Gveembio nse Fyocb
tan oveeol wwel [Tve Tu Ghviblowmol anol oo aud
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n thveet 4o e Romer’s Tree Frog.

Answers written in the margins will not be marked.
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(b) The map below shows the distribution of the two frog species in Hong Kong:
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Key: _
@ habitats of Romer’s Tree Frog

<> locations where greenhouse frogs were spotted in the survey

Suggest why the information above cannot prove that the Romer’s Tree Frog is facing a real threat from
the greenhouse frogs. (1 mark)

T \Lowrlivng 3N ‘Q‘(Qw\/\om&z ‘ﬁ/a@g e o bw\mﬁs of Rowerls
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(c) Suggest how you could collect data to show if Romer’s Tree Frogs are facing a real threat from
greenhouse frogs. (2 marks)
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Answers written in the margins will not be marked.
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8. When whales die, their dead bodies sink to the bottom of the ocean. The whale carcasses support a unique
community known as whale fall community. The diagram below shows different regions of the ocean and
the location of a whale’s dead body:

sky
region where light intensity ocean
decreases with depth
region without light —
“whale’s.dead body _g
. ocean floor

B\

(a) (i) Withreference to the energy flow in the ecosystem, what is the ultimate source of the energy stored

inside the whale’s dead body? k (1 mark)

The ovaauic wmareas

(ii) With reference to the above diagram, explain the importance of the whale’s dead body to the whale
fall community on the ocean floor. (2 marks)

Dcmw?osu/s o(&mu«?OSQ OVEANTL baetter( W ﬂ/\ovg,m,u\u
\,\/\o\ﬁ@vg \ PVWTJ‘\‘M\ \\\/\OVS&V\T(, Al Sov P\.O\V\TS "fo
ootovls  Fov phslosyuthes® Ao prodlww foool S0 at 1o
WUle  weeer waokavia s .

(b) What is the role of the organisms that feed on the soft tissues of the whale’s dead body in the cycling of
materials? : (1 mark)

& Ty \uvent OvgaIATL waetlers o Twovgauic wmaterg
tov o\\ogovpjﬂ)\f\ & U PIOMJ( £ov pf/\o’bs\/\,\‘{fbuu‘sto
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Answers written in the margins will not be marked.
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(c) After the soft tissues of the whale’s dead body have been consumed, another group of organisms start
to feed on the remaining nutrients from the skeleton. For an average-sized whale, it could have 2 000 —
3 000 kg lipid stored inside its skeleton. The bar chart below shows the abundance of different species
that feed on the skeleton of the whale over time:

A P

S
P RS RS
ra R

[ i T

7-12 13-18 1924 2536  37-42  43-48  49-54  55-60
Time after the removal of soft tissues from the whale’s dead body (month)

Number of each
species

Key:
B species P
species Q
[] speciesR
species S
B species T
Complete the following table with evidence from the bar chart to support that the above case is an
example of ecological succession. (4 marks)
Characteristics of ecological succession . Evidence from the bar chart
O VWave ave dilkevent \:vov\z\ O =\ wouth stter
()\o wivawt  Spe AR { X e vewoval ot Cott Teswey
!
A et ATvee Lrom e whoalele oleath Wj‘f.

the dowimant Speties X species
P. Fvowm \Z’L() wonth | 4l

31~ 60 woiths |, He lowinaut tpecie

Ty speits S .
() Sowwt Spe(rel ave bpecies P fsappears offer
divminoteo | While W wouths  opnd specres
MW UL Ve 0 = dKo\?"PQo\vs ortton (8
$omal . worths | While S gecies €

bppeavs otfer 2N mowthy and
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9. The diagram below shows the external appearance of a strawberry and its vertical cut. The achenes found on
the surface of the strawberry are the fruits:

External appearance Vertical Cut
achene

(a) An investigation into the role of achenes in the development of a strawberry was carried out as shown
below: I

Relative size and appearance of the strawberry
Day 1 _Day 20

1. Achenes remained intact. %

Treatment

2. All achenes were removed on Day 1. % ’&'

3. All achenes were removed on Day 1
and the strawberry was then regularly
sprayed with auxins.

Answers written in the margins will not be marked.

Answers written in the margins will not be marked.
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(i) Complete the following table to show what deduction can be made by comparing results of the

following treatments: (3 marks)
Treatment Deduction
[Nt ore % “Tespon i@ Lov e e avoutl
\g—‘? Stva \A\\OL\/V\/.
s AWV e T proclued by aoheues dlout
w5 res povsTe Lor s groctl of  crrondoervy.
| vereus 3 D Uhanes bt o produw dhewwriels othey Haw
gt Wn T vesponsTbla fov the oppesanu °F
(i) Based on the results, suggest one hypothesis for the enlargement of the strawberry. (1 mark)

Ahere o g Plfo(‘/{wuz auxthh Wtk (au Fmulote
*(’A/\\O\\/Q.V\QJ\MWf ot ﬁr&wgvz/\/\l/

(iii) Study another treatment as follows:

Relative size and appearance of the strawberry
Day 1 Day 20

Treatment

Achenes remained on
the upper part

4. Achenes were removed from the lower
part of the strawberry on Day 1.

Achenes removed
from the lower part

In terms of experimental design, what is the advantage of Treatment 4 as compared to Treatments
1 and 27 (1 mark)

AWM Showt Aaat Ale Voot s Tveatuens | awd )
m oonly  ove Tverlvment ouwdd  eypestinet, o that
erlment % o vedu o Lost o crvawbewvvy -

(b) Give one example of a growth response induced by auxins and state its significance to plants.
(2 marks)

Awaw _prodluw ol oy (oot Arps diwmulotfe grouth of

Qv “(T\uv o ot To - obltodn LOXThALIA SlAV\hqv]/\‘(‘
fov ?V\o-\OS\!VJ(\/\iAR \0\4\ yee Laves to produu
2 Htwd.

Answers written in the margins will not be marked.
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10.

Cassava is a crop which grows in areas with poor soil and a low rainfall. It produces starchy root tubers which
serve as a major food source in Africa.

(a) Give the location(s) where the chemical digestion of starch takes place in the human digestive tract.
. (1 mark)

Mot &D\VT\\/ L Ssvaa

(b) Table I below shows some nutritional information of cassava while Table 1I lists the daily energy and
protein requirements recommended for boys at age 16:

Table I ' Table 11
Fresh weight (g) from which 100 g dry weight is ylelded 250 Daily requirement
Energy (kJ per 100 g dry weight) 2675 Energy (kJ) 11 100
Protein (g per 100 g dry weight) 3.5 Protein (g) 52

4 '

fn Africa, some low-income families may rely only on cassava for food for a long period.

(i) A 16-year-old boy relies only on cassava for food. Calculate the fresh weight of cassava he needs
to consume so as to meet the recommended daily energy requirement. : (1 mark)

\\vo° .
e XA = 03Ty

(ii) After consuming cassava only for a period of time, this boy develops swollen feet due to the
accumulation of tissue fluid.

(1) How much protein can he obtain from the amount of cassava consumed in (i)? (1 mark)

\031 |
o L3S = A4S g

(2) According to Table II, predict the difference of the blood protein level of this boy when
compared with that of normal healthy boys of the same age. Explain your answer. (2 marks)

The Amly vequivewment oy the \vs\( Y Sl ARyl (avger
thon that o sem obtoan everydew e Yaoof w2 plolein level

of s Loy AW L pmuwch bwer thon Hiot of worwal L\,uxf‘ﬂt\,/ ko;/;
of e e Yy

(3) Based on your answer in (2), explain why this would lead to the accumulation of tissue fluid
in his feet. (2 marks)

Aot Yoool prlin eved w low , tle wefer wleittal T blood]
INVITIRCY etk of caP™N vy

T ot w‘%ﬁo\wt\\/ \ou 2nouala At v \wo\ {o +[m dewe o
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Whaty Tw
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Gl alekdn oP 4 sue Plurd.
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(c) Cassava contains a natural toxin. Consuming inadequately cooked cassava may result in cyanide
poisoning. Cyanide shuts down the oxidative phosphorylation in mitochondria by inhibiting a key
enzyme of the process.

(i) Name the structure of the mitochondrion where this enzyme is located. (1 mark)

e \AAMM\éVO\V\L ()‘F VINAYS Ul/\o “ (‘A Vit .

(ii) A man accidentally consumed some raw cassava. How will his blood lactate level change? Explain
your answer. (3 marks)
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You are required to present your answer to the following question in essay form. Criteria for marking will
include relevant content, logical presentation and clarity of expression.

11. In agricultural practice, some crops are reproduced asexually to improve production efficiency. An increase
in yield of these crops is observed in recent years due to a steady increase in the average global temperature
Meanwhile, some scientists worry that crops reproduced asexually are at high risk of extinction due to
environmental changes and diseases if global warming persists.

Explain the increased yield of these crops due to global warming and the rationale behind the concern of the
scientists. (11 marks)
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END OF PAPER

Sources of materials used in this paper will be acknowledged in the HKDSE Question Papers booklet published by the
Hong Kong Examinations and Assessment Authority at a later stage.

Answers written in the margins will not be marked.

2023-DSE-BIO 1B-20 20

Answers written in the margins will not be marked.



® 2023 DSE (C)

EEEARIEKE
HONG KONG EXAMINATIONS AND ASSESSMENT AUTHORITY

EEFTE2XEFR
HONG KONG DIPLOMA OF SECONDARY EDUCATION EXAMINATION

M OBE (S
% FE '

ANSWER BOOK

EERAM

(—) EfAER  BEAEAES 1| REXEEUEERSZLER
B WAES 13RS HEZEEMEM EBREHRS -

(Z) BEGHESB)LEASENRRES  WAES-HNHEME
SARBRIEITIRIEE "X, ¥ UFROREBTHERETH)
EHEF-HZBEEVBEERFEENRERIE -

(2) HKERWEHSEEER  LESTER - FUESRERIUN
EER - BRERLSINIEE - #1 TFE -

(M) MEFE > TERRSITBAERMERESEL - B—HFS
RIHREL T - HENERHR IS - M EEIEMRE > I
FEENEA -

(H) SBIEEREER  FETGRGEHINGES LB
HE R E S R T 1

INSTRUCTIONS

(1)  After the announcement of the start of the examination, you
should first write your Candidate Number in the space provided
on Page 1 and stick barcode labels in the spaces provided on
Pages 1, 3and 5.

(2) Start each question (not part of a question) on a new page. Put
‘X’ in the corresponding question number box on each page to
indicate the appropriate question number (see the example
below), and write the question number(s) of the question(s)
attempted in the space provided on Page 1.

(3) Write on both sides using each line. Do not write in the margins.
Answers written in the margins will not be marked.

(4)  Graph paper and supplementary answer sheets will be supplied
on request. Write your Candidate Number, mark the question
number box and stick a barcode label on each sheet, and fasten
them with string INSIDE this book.

(5) No extra time will be given to candidates for sticking on the
barcode labels or filing in the question number boxes after the
‘Time is up’ announcement.

5l Example:
S E%59E Question No. =3

A RE 4% 5% Question No.
1. 2 3 4 5 10 11 12

RiEDhJduinininininininln
OO

Do) HEgugn

13 14 15 16 17 18 19 20 21 22 23 24 225

EE4AERE
To be filled in
by the candidate

AR

Question No.

\

G




- B HAR - W F SR TN

Answers written in the margins will not be marked.

B 45 5% Question No.

1 2 3 4 5 6 7 8 9 10 11 12

XOODODoOoooo ool
aannhEEEEEEE s s

13 14 15 16 17 18 19 20 21 22 23 24 225 Start each question on a new page.

Ao Ovavy & (ould Wave Geen offecfool od Ahe oegivogem

\evel o kg olvays belowt flae woywmal vange.

Do on’AV\/ IS aﬂy(em -H/uz/ve Wiy wot \AO\UQ p{@(/e[g

Lollcdo ¢ ik 3 vegpousiule Loy Ha secretivn '

of vesTyogem, thue ch T ke low (erefiun

W %S\voqw (ool TS o a \OW/V JQSFV@S@M (oved.-

A% oY it ol Von Qe -

w2 Yeh uantvalin ot cecvosen bt hs

et ot FOR S pﬁw*&v\{ daunol, & While FH

g STimulofe g o{wdopmg of ollrele . Ay o Tol ,o(q

@ develop, thve T 6 \ow oeSTvogemn level,.

\,J\/\ U\/\ (AW o \QV\W T g, et ol

.

TR Tud \eep seovefie ol by prturfery \onol aito

boool | The ®H level © m\Wa\/s \A\%\/\M +hewn

WADVMA@\ Vanad .

%M\ A Have & ao oviledhin olwe

o Mo by level R o0

CEBEHAE - AR DT TR

Answers written in the margins will not be marked.

RREFRUSNEE - &5 FEFE -

Answers written in the margins will not be marked.



L ERE R EE St T

Answers written in the margins will not be marked.

#\ H 47 5% Question No.

1 2 3 4 5 6 7 8 9 10 11 12

< OO0 OO0 O 01 01 01 00 O

OO D000 0000 0O SRS -

13 14 15 16 17 18 19 20 21 22 23 24 225 Start each question on a new page.

ot) L. W level R uddealy mureage to o bogl,

ovel 4o mul sle o\ atron . Tp Thare R

Covialosow, e W Lvel shoulol be bewy Limal.

LD BQMW@W\\A Voo S Ty —Hase—thaet

W N Looly J(QW\DMCATWVQ TWWresge

olne J(SM sk c:(‘/\\v\ Ly whuection ,Low)ludﬂv\ voolietion

’()\/OW\ —ﬂ/\& voour |\ Al ’H/\,QJ\/\/\/\OVQC)Q/P'W\/ T \z\\/po’\’i/\ox O

deteck e UlAm\AO\Q Heat KOSS CoARTVe W WMOVOq\A\Jw\/

(Ve T \/\v(\)oﬁm\amug Somoh unore ewve wmpulie

N L Ouse it ot avievible budter daw

Kgow{T\/di\J e V\MO\/Q \b\oocA hw 4o fla dawn Co
0 Yo Thivease heott \o Yo cuvvoun dTng | to

\ower the booly J(ewoe/m\‘bfv\fe bede o tovtunl

). LY A booly J(WDM&“(\/»V@ ‘\Aw(m%eo& fom Y6°( Ho

SUC  the tomonen puerade oMok ¥ <k,

\b\m& Hb ﬂﬁ@%@é@{%ﬁ g\l\b\,\ﬁ/\q Hhat H ovtertoles

D \D\Agh/\dt

(D N Ahe grevise guowp T SRAGETHG | e R 0

mwmg‘w\ olevvw\m ‘Qov DW 0\,@(/\ Vo %oo&i

&?T@v\o\&s Oty Tl o \/QO((AUL blood TO(DLJTM

ko g\@/\ ! L\M(ﬂ/ WMNEOSe  omount QTQ \')L%DM ‘HD\/\)

fo wiugdy , Weastg g e Cupply fov mucle

CHEHAR - MNFETZm T

Answers written in the margins will not be marked.

RRNBRUINEE - BF FFE -

Answers written in the margins will not be marked.



- M HE TR

TEE:

=113
<

° &n

Answers written in the margins will not be marked.

£\ RE 4% 9% Question No.

1 2 3 4 5 6 7 8 9 10 11 12
ROODODOODOODOO O 0000
o000t 5B 5 B R -

13 14 15 16 17 18 19 20 21 22 23 24 225 Start each question on a new page.

VL) ) (AT

1) Trevase avoup poluwe wiwe aeect Hiow thodt

vt Ve, Woup. The loreothing vote ot exertrse -

GLITOS TS'%NjQV o that 3%\@ﬁﬂA&(§me

t
i

R R P i

N EEES

Answers written in the margins will not be marked.

ERERUINEER  BF FIHHE -

Answers written in the margins will not be marked.



B HAR - MR F T T

Answers written in the margins will not be marked.

. 28 4% 9% Question No.

OO OOO0O0OOOQOO

oo dd (G5 5 R .

13 14 15 16 17 18 19 20 21 22 23 24 225 Start each guestion on a new page.

LA Restviomw evzyime P ouol \2 T\Am G Lt
p\qs»wo\ B opeu Yo %bvwx @%%Tw\/ boce
yom Wit &y dud ot DN f‘fa\w%* with

(ﬂP UL

) To et yvoustormed kodomion thet DI p

p\o\g ol s bodowto siks +hat 22 O(\O(M%

o\o\L P Oy \&&wﬂ Are” p8 He WWW o o

(avyy D\V\AD\Q\\\‘\A vé&f(o\vtué vybrle locACUz/vm oot

P T wp D O\SVV\TM DV W VL Tia NaLNY p\JfL w’ﬂn

Q\M?wx\l\v\ NS W\f w\\/\/\/ o\wpmﬁ\‘v vegstane

a\ew&

™ Y Gwas po\sw\\d\ Ve Hangelsey Jito Lt “A&Ml\‘/\&

w\m o TEHAL Wl _%Owbmaw’c

ONR ‘WO\O\MWJQ W‘W G 4N, ,\,J\p 0. Lo ch\m

LV \Aseﬂeo\ DNA ‘EVM‘%W‘ WJ& LRt G P PresL &

»\)L\\()\/\ Yy YQLSW‘&/\V\V\T p\agW\M EO\C@/’/(M_H/\&'t

U now - vew wbiomt plaswrol  don (iaye

% (;’P| NN wWirtoha co\mmﬁ‘evﬂ—b 42 Gveet

Lluovesime Whem €9o@ol to UV it | podemh

Wile badaia pm[c op veombmavt p ag\ﬁw(

LWy GIEP Gens wWTUA ot et aweem ovesma

Moy @Kp%wk To W (gt Al tove, ouly

CoMe. \\a(f@/‘/‘o\\ WloLaes, D\\Dw wintker W Nﬁ(

- MR & 5 2 A N Y

-ERRE

Answers written in the margins will not be marked.

RNBRUSNGEE K FHE -

Answers written in the margins will not be marked.



BWANE - NHB SRR

Answers written in the margins will not be marked.

2 BB 4% 9% Question No.

1 2 3 4 5 6 7 8 9 10 11 12

OO O0XOOOdoooolnl

oo il SESEFEEE -

13 14 15 16 17 18 19 20 21 22 23 24 225 Start each question on a new page.

Lkowt) ) Vo ‘produ  EP To bE addecl o Soumples

tov J(QS‘&«L\& wnolov OV | LT

D e ¥ Toswe Gultuve

W) WX aumd E

) Pl DNA bavd ™ Lowply Y ® plcout T Grel |

whirih \M\wfe *Hmt QO\WD\L\f dow% (% C@W\/

ACTIN UL

WAAM—E—&%&M\— w\A W T gveewT‘M

ol Vi powts | e coumple Y \MM e

not ey (uifodn puy ONB Bow vite [

M e vedult m Gel T % vst oarotte.

tT)O)(;wov,\s 1 MosSt ot T ol aven |have Q7

oY VST ble wy Jwvy ool suly 10 \eowvel Lowe \ L0

b Oueem (oo pveA Wt \/’grk,\L Wmjuvy | whrodh

oot © e loost 2 Ty el (Dmphre

Wil otur ) B0 DS . \W@“fove ( D\V@u/pé

dhows e Walest hedsurle Vesiglanie o

o up LN lengt o{amout«, Ly berbrorole .

D X% Ne X dowtk Wiy HR_geme (S Hare B o

DNP Lavd w bel T vt Ge Yo doutl fps

hWave hwurbiode vegstowme | Ol e Ll ke

RS o*\awww\ (nkf 2 Labrole  wistedha

oy e (T ee dhow s DNA Lawvidl 1a

cEmBEUANR - MINEF T80T

Answers written in the margins will not be marked.

BREARLSIOEE  BFTTHE -

Answers written in the margins will not be marked.



& 78 47 %% Question No.
OO OXOOOOO0O0O0
OO0 O000000 T

13 14 15 16 17 18 19 20 21 22 23 24 225 Start each question on a new page.

Abwid W) e\ U, Yy &ﬁ#vgiﬁb-iAave Ladronle vesigtine.

W iarle bVou»P\ have Hhe okt @VP/VMTW)e

o ok pvea wWith Vigthle DGwvy | whih

dows thet Gvoep | have \owedt laxbramte

ISS VN

(3) The MR qene 7z comuot expeys ov\T

Yyetove Lanuv ot DYoO(uug \/\U\/b(

LR e P

B

Answers written in the margins will not be marked.

vesision (.

- MR G 2 R R

N EORNE"

Answers written in the margins will not be marked.

RRBRUINEE > &1 TP -

Answers written in the margins will not be marked.



HAF - MPSFSTEAE T

=

° %UL}’

Answers written in the margins will not be marked.

= BH 47 9% Question No.
1 2 3 4

HjEun

L] [
OO 00 0 00 O

BESERRMEE -

Start each question on a new page.

105
<

HEAIAAR - MRS 205w

° Bn

Answers written in the margins will not be marked.

RREBARUINEE  BXTFHHAE -

Answers written in the margins will not be marked.



LA - M ST 8 T

it
<

o Bk

Answers written in the margins will not be marked.

&4 #H 4% 5% Question No.

1 2 3 4 10 11 12

L0 O] O

L1 O] [
L] O] O

0000 []
OOl L]

21 22 23

v

25

BESEFHEMES -

Start each question on a new page.

T HAR - MNP F A

IL
<

o #p =

Answers written in the margins will not be marked.

BREBHRUIINEE B FFFE -

Answers written in the margins will not be marked.



ST - 9 OR B T

auy
<

° A

Answers written in the margins will not be marked.

=f 5 45 5% Question No.
1 2 3 4

] O] O L

L] L
L1 OO O] 0 [

BESEFHEES

Start each question on a new page.

- oM IR 3 T SR e R

HHT

ajiy
<

° Bn

Answers written in the margins will not be marked.

RREBAUIINEE  BXFIFHE -

Answers written in the margins will not be marked.

10



- EREERE Lt T

Answers written in the margins will not be marked.

=\ 25 45 5% Question No.

1 2 3 4 101112

HEEEEn

L]
L]

L 01 O
0O OO

5 6 8
L1 01 O O
OO ooo
13 14 15 16 17 18 19 20 21 22 23 24 225

BESEFHERMEE -

Start each question on a new page.

AT - WS S R

° ¥

Answers written in the margins will not be marked.

BRERUINEE &5 FEFE -

Answers written in the margins will not be marked.

11



kB L=l

Answers written in the margins will not be marked.

=t B8 47 9% Question No.
1 2 3 4

100 00 [

L] [
O ool

BESEFHERES -

Start each question on a new page.

AT - WS 5

o
S

° Bn

Answers written in the margins will not be marked.

RREAUIINEE  BF FFHHE -

Answers written in the margins will not be marked.

12



Level 5 Exemplar 2

2023-DSE
BIO

PAPER 1B

HONG KONG EXAMINATIONS AND ASSESSMENT AUTHORITY

HONG KONG DIPLOMA OF SECONDARY EDUCATION EXAMINATION 2023

BIOLOGY PAPER 1

SECTION B: Question-Answer Book B

This paper must be answered in English

INSTRUCTIONS FOR SECTION B

(1)  After the announcement of the start of the examination,
you should first write your Candidate Number in the
space provided on Page 1 and stick barcode labels in
the spaces provided on Pages 1, 3, 5, 7 and 9.

(2) Refer to the general instructions on the cover of the
Question Paper for Section A.

(3) Answer ALL questions.

(4) Write your answers in the spaces provided in this
Question-Answer Book. Do not write in the margins.
Answers written in the margins will not be marked.

(5) Supplementary answer sheets will be supplied on
request. Write your candidate number, mark the
question number box and stick a barcode label on each
sheet, and fasten them with string INSIDE this Question-
Answer Book.

(6) Present your answers in paragraphs wherever
appropriate.

| ] (7)  The diagrams in this section are NOT necessarily drawn
to scale.

(8) No extra time will be given to candidates for sticking on
the barcode labels or filling in the question number boxes
after the ‘Time is up’ announcement.

OFEEFHNTIZE % R 1
Hong Kong Examinations and Assessment Authority
All Rights Reserved 2023

2023-DSE-BIO 1B-1 1

ORI




Answers written in the margins will not be marked.

L.

SECTION B

Answer ALL questions. Write your answers in the spaces provided.

The spheres shown in the diagram below represent the air sacs of different sizes in the lung. The total volume
of the eight small spheres with a radius of 1 mm each is equal to the volume of one large sphere with a radius
of 2 mm.

surface area of one sphere (mm?) 12.6 50.3

(a) Calculate the total surface area of eight small spheres. (1 mark)
({
TN RS g x 15b

’/Mmm‘ > oo % Mn\z

(b) With reference to the answer in (a), explain why having smaller air sacs in the lungs is more efficient
than bigger air sacs for gas exchange. (2 marks)

Aotel
He"prfoce apeb  of amedler oo aots o Lowser

(c) Apart from (b), explain how air sacs are specialised at tissue level for gas exchange. (1 mark)

SL»L%m(gaMWszWW
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2. All cells are derived from stem cells. They undergo differentiation in which the cells change in form and
shape which enable them to perform specialised functions.

(a) It is found that the lens of the eye is compésed of cells without organelles. If the organelles of these
cells had not been degraded during differentiation, describe how the functioning of the lens would have
been affected. (2 marks)

s e Lzt OFe reCaa Ko gere

-

Y
0

(b) Suggest a type of plant cell which also experiences degradation of cellular components during
differentiation. Explain the significance of the degradation to the function of the cell type. (2 marks)

WW.WMW}@MMM
wel onol o Lol ol Zo e llow

ALile rescCrrce
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3. Diagram I below shows the right leg with the associated joints and muscles. Diagram II shows a series of
motions during running with the right leg highlighted in grey.

Diagram I1
©))

M

muscle P

}——joint Y

(a) Inorder to bring about the changes in motion from (3) to (5), what is the change of state of muscle P?
(1 mark)

wiadde P ertradt

(b) With respect to the answer in (a), state the role of muscle P by circling the following choices in (i) and

complete the sentence in space (ii).
(1 mark)

MusclePisa (i) (flexor)/ extensor because (i) wlen LE reortrosy

(c) A person injured his knee while running. Diagram III shows the condition of joint Y after the injury:

”

Diagram II1
\ “‘X B [

b

......

Q
Structure Q was torn. How would this affect joint Y and its functioning? (2 marks)
B b licomust . (wRen £ D o | E it
\) A
v trand — Arores Laschier ool Aere ey A

W%W/WYM&&M
Moyt Of H,%u‘/wd%/émcmw(

Answers written in the margins will not be marked.

2023-DSE-BIO 1B—4 4

Answers written in the margins will not be marked.



Answers written in the margins will not be marked.

4, Dengue fever is an infection caused by the dengue viruses (DENV). It is an endemic illness in many countries
in tropical and sub-tropical regions. DENV encompasses four different subtypes. Each subtype can lead to
dengue fever.

(a) What is the way of transmission for dengue fever? (1 mark)

MLy

(b) Suggest o environmental factors in tropical and subtropical regions which lead to a higher risk of
contracting dengue fever for people living in these regions. Explain your answer. (3 marks)

JMMWWMW(MW
WM%W/M%M
Mpreotuce Ko e ABSKC (usbo . et or€ e of

(c) Patients infected with a parficular subtype of DENV for the first time can recover on their own after
about a week without any treatment.

(i) Give three types of white blood cells that aid the recovery and describe each of their actions.
(3 marks)

hooctite. ., ity 2opaty  peiope oot o food
B ectls, oy procluce a/Zbolics apocfee o Aol

(i) Explain why people who have recovered from infection with a particular subtype of DENV can
still be infected with other subtypes of DENV in the future. (2 marks)

14-1'./)/Lo./*3 resrorie ,ﬁ/,q('u Ly, apecife. , IR gUec et Bygen OF
bErV Z . ecOveets
(d) Suggest one preventive measure against the spreading of dengue fever. (1 mark)

wu%'-'u An Mepe reseims o Ay WA@WV e
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5.

An electron micrograph of a chloroplast is shown below:

(a) Label structure Y. v (1 mark)

(b) State the energy conversion which takes place at X and its importance in photosynthesis. (2 marks)

reotipmg Fvovide ATl epnel  MADPH 4o St tclion

(c) To which type of metabolism does the overall reaction at Z belong? Explain your answer. (2 marks)

&

o ATP__ Ko form = paore  Connpl.  OTROML
fustrdots (Al Thonfeces | frop = Fdvpbe

L

At ALonaotuwll <<oa).

v
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(d) Describe how the photosynthetic products of the leaves are stored in the underground tubers of a potato
plant. : : (3 marks)

Ok—gwmowAMM Lo o
Wﬂwfmgkwﬁm
;&mmzyguw@r—gwmﬂkmm
Lo TR Aovrerled Zo AUk _gor ctorear

Answers written in the margins will not be marked.

2023-DSE-BIO 1B-7 7 [[Goontothe next page>

Answers written in the margins will not be marked.



Answers written in the margins will not be marked.

6. Colour blindness is an inherited disorder due to defective functioning of the cone cells in the retina. There
are many types of colour blindness. For example, people with red-green colour blindness fail to distinguish
between red and green colours while those with total colour blindness experience total loss of colour vision.

(a) Based on the functioning of cone cells, suggest why the condition of 'red -green colour blindness is

different from that of total colour blindness. lerly Ler W eol (] mark)

T~
)MMM?C{SYM%WW,M,r{W M\
Mo/&amay/)mmMmWh

Ned— = Ao y t

gﬁr(/-r\ ASlinduen ovol i ol vUi<ars

(b) Red-green colour blindness is caused by a recessive allele on the X-chromosome whlle total colour
blindness is caused by a recessive allele which is located on an autosome. The table below shows the
percentage occurrence of red-green colour blindness and total colour blindness in men and women:

Men Women
Red-green colour blindness 8% 0.5%
Total colour blindness 0.00001% 0.00001%

With reference to the inheritance of the two types of colour blindness, suggest why the occurrence of
red-green colour blindness in men as compared to women differs from that of total colour blindness.

(MMAK—W)/(“‘W‘@
amv%—wwmw N A-BreenZeese otiiserce
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XN Ao flindllise , Tn onel WOhen pove Zhe
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(¢) The pedigree below shows the inheritance of red-green colour blindness in a family:

§
X *{1 9 ,xGxL Key:

O normal male
Q normal female
é . i . colour blind male

3 4 5
xh( ,\b‘(

(i) The couple is expecting another child. Using ‘B’ to represent the allele for normal vision and ‘b’
to represent the allele for red-green colour blindness, construct a genetic diagram to find out the

probability of this newborn being a girl with red-green colour blindness. (4 marks)
(Note: Punnett square is not accepted.)
Individu ~t L T adtviduwer 2
P - x By X x Bx?b

J Y

Y
¢ OO & ©

F T4
U x >Bx® x B¢ xoY
normef =Y akll Aol aetEtld
€emee €t ol moe

p-20 s Wiciey of red-(c€l- CI(2u- blinduess gt = O

(i) Individuals 4 and 5 are twins. Can you determine whether they are identical twins or fraternal
twins? Explain your answer. (2 marks)

Wv,DmﬁaWWﬂcﬁmmm

MMMW/W,,MWM

MWW,)WWMW
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7.

Greenhouse frog is a foreign species which is now found in many local areas according to a recent survey.
There is a concern that these greenhouse frogs might threaten a local endangered species, Romer’s Tree Frog,.

(a) The table below provides some information about the two frog species:

Name Romer’s Tree Frog Greenhouse Frog

Size 1.5-2.5 cm 1.2-3.0 cm

Breeding site and | Wetland, small and temporary water | Woodland; shrubland; agricultural field,;
habitat bodies; woodland; shrubland; plantations | urban park

Food Small insects Small insects and snails

By comparing the ecological niche of the two frog species, give two pieces of evidence that support the
possibility of the greenhouse frog posing a threat to the Romer’s Tree Frog. Explain your answer.
(3 marks)

relotionme  ptawen  Qetrers Jecee Srop ppdd  Srethove
6JWAWMM,MDMMWA%W
A chesk LD oot goph e AATUX -
poaber clecrecnea
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(b) The map below shows the distribution of the two frog species in Hong Kong;:

o &

S N\MN\\ fé
/.

-

Key:
® habitats of Romer’s Tree Frog

<> locations where greenhouse frogs were spotted in the survey
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the greenhouse frogs.

SAW,AM ;(M/MWM,U\

Suggest why the information above cannot prove that the Romer’s Tree Frog is facing a real threat from

(1 mark)

WMQA—C

I‘W/M;é(%'oéd/bo’c Sy X

ALonyrke

Suggest how you could collect data to show if Romer’s Tree Frogs are facing a real threat from

greenhouse frogs. (2 marks)
ot
,(,W W:Cofu., M /M wo.m Gomers dree a'r'!rg,,, __________

)ﬂ&ms(s#reom@ ﬁyb(u»tm,ﬂw&;{n rearug clors

W@“,qum,uﬂw
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MAQWWW,MQW;}&&.V)AMMM-
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8.  When whales die, their dead bodies sink to the bottom of the ocean. The whale carcasses support a unique
community known as whale fall community. The diagram below shows different regions of the ocean and
the location of a whale’s dead body:

region where light intensity __
decreases with depth

region without light —

ocean floor

(a) (i) Withreference tothe energy flow in the ecosystem, what is the ultimate source of the energy stored

inside the whale’s dead body? (1 mark)

(ii) With reference to the above diagram, explain the importance of the whale’s dead body to the whale
fall community on the ocean floor. (2 marks)

At Mo gotlon regdn | e s ao Light . @roduicn ek =
67MMMWW€M4M phedds oo [l

.

el\e,f}ry AT
\/ (b) Whagls the role of the ‘organisms thdt feed on the soft tissues of the whale’s dead body in the cycling of
materials? (1 mark)

,, v’- vi" e L% “
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Number of each
species

=
%
U
N

(c) After the soft tissues of the whale’s dead body have been consumed, another group of organisms start

to feed on the remaining nutrients from the skeleton. For an average-sized whale, it could have 2 000 —
3 000 kg lipid stored inside its skeleton. The bar chart below shows the abundance of different species

that feed on the skeleton of the whale over time:

A

|

19-24

25-36

37-42 43-48 49-54 55-60

Time after the removal of soft tissues from the whale’s dead body (month)

Key:

7-12 13-18
species P

species Q
species R
species S

species T

Complete the following table with evidence from the bar chart to support that the above case is an

example of ecological succession.

(4 marks)

Characteristics of ecological succession

Evidence from the bar chart

() ke ;69,',,% ancl  prelotiin
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9.

The diagram below shows the external appearance of a strawberry and its vertical cut. The achenes found on

the surface of the strawberry are the fruits:

External appearance

Vertical Cut

achene

(a) An investigation into the role of achenes in the development of a strawberry was carried out as shown

below:

Treatment

Relative size and appearance of the strawberry

Day 1 Day 20

1. Achenes remained intact.

n

2. All achenes were removed on Day 1.

3. All achenes were removed on Day 1
and the strawberry was then regularly
sprayed with auxins.
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(i) Complete the following table to show what deduction can be made by comparing resuits of the

following treatments: (3 marks)
Treatment Deduction
1 versus 2 Gervves o ostarts firper growetl f.
Araulery -
2 versus 3 W . Sensicits 7
1 versus 3 o AL =22 i C -
ore Two Arcleprcind yeyetie

(ii) Based on the results, suggest one hypothesis for the enlargement of the strawberry. (1 mark)
chane A ogpteins oot e Loucte o
Ltrenne  r ghe —of 2 Tecwrbemry -
[ 4 v A4

(iii) Study another treatment as follows:

Relative size and appearance of the strawberry
Day 1 Day 20

Treatment

Achenes remained on
the upper part

4. Achenes were removed from the lower
part of the strawberry on Day 1.

Achenes removed
from the lower part

In terms of experimental design, what is the advantage of Treatment 4 as compared to Treatments
1 and 2? (1 mark)

c‘(g)éﬁGiVW.cWWMo/m%

¢ one example of a growth response induced by auxins and state its significance to plants.
(2 marks)

MM%.SLWMWXAM
Aloves i Aprvonreile T or Lo reCAr Mo
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10. Cassava is a crop which grows in areas with poor soil and a low rainfall. It produces starchy root tubers which
serve as a major food source in Africa.

(a) Give the location(s) where the chemical digestion of starch takes place in the human digestive tract.
(1 mark)

+ qlemtinal oS

(b) Table I below shows some nutritional information of cassava while Table II lists the daily energy and
protein requirements recommended for boys at age 16:

Table 1 Table Il
Fresh weight (g) from which 100 g dry weight is yielded | 250 Daily requirement
Energy (kJ per 100 g dry weight) 2 675 Energy (k]) 11 100
Protein (g per 100 g dry weight) 3.5 Protein (g) 52

In Africa, some low-income families may rely only on cassava for food for a long period.

(i) A l6-year-old boy relies only on cassava for food. Calculate the fresh weight of cassava he needs

to consume so as to meet the recommended daily energy requirement. (1 mark)
11 DCQ
1se
2:67-§. 4 o423

(ii) After consuming cassava only for a period of time, this boy develops swollen feet due to the
accumulation of tissue fluid.

(1) How much protein can he obtain from the amount of cassava consumed in (i)? (1 mark)
1o 4d 7.5 >
se < f 3 - k.35

(2) According to Table II, predict the difference of the blood protein level of this boy when
compared with that of normal healthy boys of the same age. Explain your answer. (2 marks)

Wz protein orfevired 4o Lir Fhom Thn  <lotit
reqiremest |, o e Lot grolen Luntl <5
Zha Goy 0 Lowwes ZKho.  _mtcce ~F  AOTTVEL
Mool Ay

(3) Based on your answer in (2), explain why this would lead to the accumulation of tissue fluid
in his feet. (2 marks)

onl hter flmot |, fetoer rfn o T Glust A

4 -
,ga.a.ac—
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(c) Cassava contains a natural toxin. Consuming inadequately cooked cassava may result in cyanide
poisoning. Cyanide shuts down the oxidative phosphorylation in mitochondria by inhibiting a key
enzyme of the process.

(i) Name the structure of the mitochondrion where this enzyme is located. (1 mark)

criatel

(ii) A man accidentally consumed some raw cassava. How will his blood lactate level change? Explain
your answer. (3 marks)

QLo Latoate Al Urorecrrs . difg Tllly-
feotptory on 23 Aepibs 7t Coret
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You are required to present your answer to the following question in essay form. Criteria for marking will
include relevant content, logical presentation and clarity of expression.

11. In agricultural practice, some crops are reproduced asexually to improve production efficiency. An increase
in yield of these crops is observed in recent years due to a steady increase in the average global temperature.
Meanwhile, some scientists worry that crops reproduced asexually are at high risk of extinction due to
environmental changes and diseases if global warming persists.

Explain the increased yield of these crops due to global warming and the rationale behind the concern of the
scientists. (11 marks)

her stempartduce  Anireorts . e ot G
qum/ﬂcmw
W?;Mﬂucmaﬁafg«uig&u}»
MM,W wiee M2 nore  Lelet

Zhe Aevdlopnert -of Afogfr Rmben —Uf o,
WWWWWW{M
Plnce | 0ers fo oy anironed  qizss )i, reqesioctin
/°4MW/D¢WMMWWM/WW
/WWW/WWW
Cw{wﬁwwlwmfumw@amb

[d

%&ﬂ;mm_anwmw

Answers written in the margins will not be marked.

2023-DSE-BIO 1B-18 18

Answers written in the margins will not be marked.



Answers written in the margins will not be marked.

m:ﬁﬂ&v/-wvc of(.rlr-v-ﬂgfz.u,oc,(;z,/uiaf&aua

W\’W%awmw{,«&,&

aodopty K Al CPNirorMretl _LorgR gy omil

Mo&b-

Answers written in the margins will not be marked.

2023-DSE-BIO 1B-19 19

Answers written in the margins will not be marked.



Answers written in the margins will not be marked.

END OF PAPER

Sources of materials used in this paper will be acknowledged in the HKDSE Question Papers booklet published by the
Hong Kong Examinations and Assessment Authority at a later stage.
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